Fill in the missing information in each proof. 5.
4. Given: GH=KL, £G=¢K, and GI=K]

G K
Y‘\! I/n7

Prove: HI=L]
Statements | Reasons
1. GH=KL 1. Given
2.LQs LK 2. Given
3.GI=K] 3.Gwen
4, aHGQISALKET | 4.5AS
5. HI=L] 5. CPCYC
6. Given: ST=VU 7.
T
8]
S
\'
Prove: £SVT=2UTV
Statements | Reasons
1. 97 £ Vo 1. Given
2.TN VT 2. Reflexive Property
3.ANTzAUTY |3.HL
4, £SVT=£UTV 4, C¥ere
8. Given: GH||JL, 1 is the midpoint of HK and 9.
GH=JT
G J
H 1 K
Prove: £G=/4]
Statements Reasons
1. GH||JT 1. Gwvens
2.1is the midpoint of HRK | 2. Gweert
3. Gn T 3T 3. Given
4, HI=IK 4. DEF. MuDPOINT

5.LGWUT 2 vy

6.AGHI T a M
7. £G=L]
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5. Corresponding
6. SAS
7.CPCTC
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Given: ZMNP=~£0PN, and MN=0OP
0
N
M
Prove: MP=NO
Statements Reasons
1.@”15 LOPN | 1. Given
2. MN=0P 2. (wEn
3. NP=NP 3. REFLEXINE Treop.
4. AMNP=AOPN | 4. 3AS
5. MP 2 AID 5.CPCTC
Given: AC=CE, DC=BC
D
A
E
B
Prove: 2zB=«D
Statemeng_s__ Reasons
1.Ac = CE 1. Gugns
2.5c= BC 2. Given
3. £ACB=£DCE 3.Neenear £s S
4, AABC=ADEF 4.35A5
5.4B=«D 5. C¢rerC
Given: MP=NP, MN LOP
M

I
/

N
Prove: MO=0ON
Statements Reasons
1.™M PS MNP 1. Given
2. MNLOP 2. (st
3.0P=0P 3. REFLEXINE Vao?
4, AMOP=ANOP 4, VL
5. ™Mb = OM 5. CPcTC




